[ normalized x? probability |

ntries
[ fvean 1.26
5td Dev.

107

A

g 8101214161820

— DQM_orlg|na\_slepz_\tbar-phasel-newgeom
w——— DQM_mkFit_step2_ttbar-phasel-newgeom
wmmm= DQM_angle_step2_ttbar-phasel-newgeom
weses DQM_fast_step2_ttbar-phasel-newgeom

A5 =
5 = :
< A 5
o |
\ \)— X
af ] !
................ ) t '
v LA
""""" L) H
8
T 1L - H- -Hit-
ox : ; i
1 - L RELY. JLs il
o5E - Wt H- 3t el 1 - 44
£ ILIE iEilkE
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A AN
2 2 18
< 3< 16
\%2 "
1.4
o
T
24

107 1072

1 -1
AR(track, jet?

<o pTIpT > (Yo)

Ratio

- ==

0—1

[

10 10? p103
T



	Contents
	Page 1


